
 
 

 

thewinningedge.co.in 
 

 

NUMBER SYSTEM WORKSHEET – C  

Tick ( √ ) the correct option:  

Q1. The place value of 5 in 7352698 –  

(a) 5000  

(b) 5  

(c) 50000  

(d) 500  

Q2. Seventy million ninety thousand six hundred fourteen can be expressed as – 

(a) 7090614  

(b) 70090614  

(c) 709060014  

(d) 790614  

Q3. The difference of greatest 5 digit number and the smallest 4 digit number is 

– (a) 100999  

(b) 1111  

(c) 19999  

(d) 98999  

Q4. Which of the following number is the greatest?  

(a) 10987  

(b) 9899  

(c) 9986  

(d) 10086  

Q5. The smallest 5 digit number using two different digits is – 

(a) 10000  

(b) 10111  

(c) 11110  

(d) 11111  
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Q6. 1 Crore = ______ thousands –  

(a) 100  
 

(b) 1000  

(c) 10,000  

(d) None of these  

Q7. 2,00,00,000 + 60,000 + 20 + 8 is equal to –  

(a) 20,60,028  

(b) 2,00,60,028  

(c) 2,00,628  

(d) 20,60,628  

Q8. If 264 apples can be packed in 8 boxes, then how many apples can be packed in one 

box? (a) 33  

(b) 2112  

(c) 66  

(d) None of these  

Q9. When 4,72,815 is rounded off to the nearest thousands, we get –  

(a) 4,72,000  

(b) 4,72,800  

(c) 4,73,000  

(d) 4,73,800  

Q10. In Roman Numeration System, we cannot write –  

(a) 0  

(b) 1  

(c) 50  

(d) 1 Lakh  

Q11. The next number in the pattern –  

80,11,497 81,11,497 82,11,497  

(a) 81,12,497  

(b) 80,21,497  

(c) 83,11,497  
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(d) 92,11,497  

 

Q12. Which of the following number is divisible by 3 but not by 9? 

(a) 6  

(b) 27  

(c) 18 

(d) 36  

 

 

 

Q13. Which of the following is a whole number but not a natural number                                   

(a) 1  

(b) 2  

(c) 3  

(d) 0  

Q14. 53 is a number –  

(a) Prime  

(b) Composite  

(c) Even  

(d) None of these  

Q15. In Roman Numeration System, which symbol is not used? 

(a) C  

(b) X  

(c) B  

(d) V 
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